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* ® ) St (D) T
Which direction are you facing Now, if you tumn 2 xrie:grees clockwise from facing west at the bc‘s'“"‘"g
(A) East ®) South (C) West (D) North-West

9, = ufew 3R P & vty f e A1 I
A s o

;o e R ey 3
ﬁa"‘f PF G T B O]
3o w8 o 7 A P i O o
(A) Pl P et e s O, man e i e w8
(C) = frerd fftm s d e 2 (D) wamar wn e e e @
Read the statements and select the correct alternative regarding the conclusion.
Statement 1 :  Tray plays table tennis. &

Statement 2-> Table tennis is a difficult game.
Conclusion : ~ Tray plays a difficult game.
From the abové statements, we can conclude that @

(A) No conclusion can be reached <IB) The conclusion stated is definitely true
(C) The conclusion stated is definitely false (D) The conclusion stated js probably false
10. %@ f SH HEAd (A, B) T AN 3t B + A FHG T B G
Find the missing numbers (A, B) in the series and §f9d the value of B+A. L‘
25,36,49 A, 81, B, 12]. i)
< ﬁ A L o@® 125 © 152 (D) 146

11, @ e 8 e a2 g A Y ﬁsﬁ?@w@rﬁmﬁﬁv

Given the pattern in the provided numbers, <Hmw would you express the number represented
by ‘7' ?
1,1,9.27,25, 125,72, 343 ®
A E s P B) 37 <o 2 O 49
b et & A oA ey {F
@A) = ®) Tiren o @
Which of the following shapes is different from thedlest ?
(A) Square (B) Sphere BXc) circle (D) Triangle
n g oy sie gy A g ke 3w, varg 11l wew )t & gaea 4 A AA R Poder w e nRen &
Fmaa b ?
Ay (B) =i wET
(D) &7
@ man, Nirmala said, “She is the daughter of the only son of the mother of my sister.™ How

Pointing at a WO!

is Nirmala related to the woman ?

(A) Mother (B) Cousin -
(C) Patemnal AUNY e (D) Sister M
""""""""""""""""" Pagedof24 R Al LTSN
Wz g \
: Ao §
ety

b g e 1 e e e 1 AT

14.

6
xR [:]—aﬁir%?ﬁﬂ
17, T
s A —,\?ﬁﬁ‘mr—ﬂﬂ
e s et ey = Pt T 2
(A) 16 ® 22 ol (€ 20 (D) 31

(] . :
Examine the provided diagram and respond to the following question.

O -\—;—) Employed people

4\ <
(1 {3} D —ér Backward people :



I 17 E5| 7/ A k|
—> Educated people

al &L
How many individuals considered backward aire not educated ?

(A) 16 . B) 2 [l © 2 o) 31
of)
15, SFTE HE IR ? & 5 =
(&) ;s al 2.0
What is the next letter 7 i .
!’:O::T:
@wvu (B) P {} © T (D) R
16, 3 s et 1 s 0 ¥ o190 R o s g 8, o o o P 4 <A e e
eca 4 ® K
(A) IWafm < e I
(C) =levrafyy g D) zﬁqw_q:.i

(A) Norh-West (B) North-East
(C) South-West @) (D) South-East

17, 140 faenfiddt & wiven i arm a5 60 faemdt hfeat i e qrg o &, 70 o FER T GeRT THe
F7a ¥, 7 75 farerrd] siazn 1 GEH T2 HT | g sifateey 30 o SER 31K STSIER M1 U THR §,
18 7 ifzai i i sargzen AT A W R, 42 9 difieni g o grEr w2 G T62 8, a8 F
ST A W 3 i w9 R0 EE 39 ) 91 ifr i S snsed g9 ger ¥
In a survey of 140 students, 60 students like 1o play video games, 70 students like 10 play indoor games,
and 75 students like to play outdoor games. Additionally, 30 5|u,.|,_.'m,,- like to play both indeor and outdoor
games, 1K like both video games and outdoor games, 42 play both video games and indoor games, and

B like all types of games. Use the Venn diagram 1o find the students who play only outdoor games.
(A) 64 () 32

e i i
If you start facing South-West and turn I8(l|d{jgrccs 10 your right, what direction are you facing now ?
[

Al

ve, s SR A, T ed

Find the mirror image of the figurc. “

X "

35, STt i By o deE o IR | (]
Find the number of triangles in the figure. °§
\ ®

£ _ &
] <]
W 16 (B) 8 (C@lz
36, e i aa.an s S, s e

Which of the following diagram/set indicates the relati S':‘.%:m (SF) 3 sfter waiw AT e ?
100 bey
4

(D) 9

Ween women, mothers and parents ?

@ @ AN
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Identify the incorrect number in the following series. g "
X3 4,7,13,21,34 > o 18
P CRRR (N RY ! B) 34 © 7 - D

22, af sk o o Frafir fmem (prrRg) €A S W G O e (W) T FRd § ST 5
" TR () B A R, T QRO S (I E) F SRR B 7 3
(A) ¥ma (e @(B) frr It (2 I -
C O e R oy omarm e
i If you have a regular icosahedron and

you slice ri{alo_hg a plane that intersectsisix of i\s faces, what is the
shape of the resulting cross-section ? d
(A) Rectangle

Cl & R
. (B) Trapezoid E)
(C) Hexagon gi)(D) Pentagon hally
23, S ) SR AR U O AR o, e w3 v ) el A 2 1 g e e T
wafm g7 ’ 1

(A) = (B) ¥& © D) =&
Pointing towards Aneesh, a woman said, “His lg}lher is the only daughter of my mother.” How is the
woman related to Aneesh 7

(A) Grandmother (B) Daughter <](C) Mother (D) Sister
T (1, 2, 3, 4) AV $F 7

24, g-'&i‘ :
s e . P o 8 s, L S G |5 e 3 4 g e e

55
T EWIMW%%&W%“WW#W&QW
(A) 1-Fem2-wft 3- X =
© ,-g‘a_zuw']_{;‘%:k“ Egm) I -5, 2 -89, 3 -, 4 -3
Four peo

(D) 13,2 %, 3 TR, 4 - Fw
Pl (1,2, 3, 4) each pick o diff i ; ‘The perso i
e i e 0o s wh ke e T 20, chry and dote The person who i

person who picked the cherry is next 1o 11 2 and not next to the person who picked the date, The
The correet combination is":'y Xt 10 the person who picked the date.

(A) 1 -Banana, 2 - Cherry, 3 - Date, 4 - A
(C) 1-Apple,2- Banana, 3 - Date, 4 - Chl;[:tl;{} :g)] : - g:::rn;zz ";\a‘:l’ll:i.l 33— l:I’)m:‘ iy
. V2= , 3 ~ Da
ST () % o 70 gy ey )

: 4- Apple
Find out which of the figures can be formeq from ({B} pieces gifnﬁi::he ﬁlsttr:glm: X).
N
—_— ,——
(D)

= e e |

S . 1]
M.

: S(S\"';. AR

. ﬁﬂﬂqmﬁmﬁmaﬂﬁmﬁwmm: 3

Find out the number of the ey, 4 - 6
T ol the cubeg that are arranged in. jven :
= s
as \"\ ' \Goe O‘F‘q: v é
SNASYRS Qs : =,
: Eoe SN Neeo 2 >
. g,b\_\ .

-~



<]

u —o‘z-'zm_g{?) 24
%, fawmwafi) Sy LU ks .
-‘ﬁ?\(—%%

Choose the odd one out. D w2l 6l
(A) FG ®) QR/"’_'% it
G Az (D) KL @ 25

A 1
. ®) 17

& B
\bo2® -l

\b

39, =d
9, U ﬁ' Ut Iil qT a‘ a& a; I%IQ 5% Eﬁ a(a LRIt ﬂﬁ T l 600 % 13 ﬂé %; dE FHA AT aﬁi:{ IE ‘

(@i = & i s 3@ A |

e simple interest 0
Th on a certain sum of mone L 4
y for tw
i : ” 3 ye];lrs at 5% is T 1,600, Find the compound interest
at the same rate after 3 years, interest compounded amﬂa y

(A) 2,522 (B) T2,355 (Q]t 2,520 2
0, 12-02-2022 F 11-02-2023 T 15% e i Frard SR 2
o T 73,000 T HUR = E : - -
simple interest on T 73, 000 at the rate of 15% per gnaum from 12 H
(A) 710,950 (B) T14,750 ( T’E 12,050 R R -
. !
1. T475 uﬁﬂ&ﬁtls%}?““ﬁﬂ@w“tm e ;'."}
What is the discount ona pair of shoes marked at !%nd d ik .;;cr
g ) 7535 iscounted at 15% ? =
‘@)z 70 (D) T71.25 !

Q. mmma@mwﬁmqmm 10% 1 5z & & AP
ﬁﬁmnﬁaﬁﬂa"ﬁ’“"’“m"m H«qulf_,m;“‘m“?mﬁﬁwﬂ'ﬂmtwﬁ
aaql 9
1lﬂ.1.{l

A shopkeeper allOWs a discount of 10% on the w: I'ILL of an item but ch
charges a sales
tax of 8%

.d price. If the customer pays T )
P 34,020 u( e price including the sales tax, o on

the discounte
marked price ¥ then what is th
(A) 735,000 (B) 38,000 ( (‘Qj 34050 R 1S
39,000
0, fa x 3 '(xfﬂ)mm“ﬂ""m"'m‘—msﬂ@t Me
If the average of x and 3 (x#0)lsm, then the """"&»8! x? and - is:
A () 2m? 41 x? =
. (A) 1-2m .- PR P @1 - 3m? ® S
o TR b Pigeyerag T Lo
-} » :
‘ =7 T ‘ » ' '
Wﬁaﬁﬁm*mmﬁ%mmﬁmaﬂzﬁﬁﬂmﬁrﬁmm&ﬁa@m
mvfﬂ HWﬁh" T a’) Gt mm >

ﬁ \ =
188" _4
s"ipeq(’s‘\

,. 2V \bU'
4 éb %'H
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Emamgmnﬂtnﬂmmﬁﬁuwﬁimaﬁgﬁrm%aﬁa

e § S P A I EULTS sl
AR ? LR .
(A) 399 (B) 440 C‘" (C) 300 (D) 400
n exam and the

arts represent the distribution of candidates who were enrolled for a
sed the exam in different institutes
CANDIDATES WIIO PASSE

&

passed from institutes S and P combined and

The following pie ch
candidates (out of those enrolled) who pas

CANDIDATES ENROLLED = = 8550

{otal number of candidates who
es enrolled from institutes T and R combined is :

" Y 300 (D) 400

D THE EXAM = 5700

@IMOATA@RNTD

The difference between the

the total number of candidat

.




(B) + 43V N v -
W cnanniE W gozs w
W o fifig 52 T #, 0

“STUNNED" F1 . " £ *SCRADBBLE! s coded ns *19318122125%

Inscrain coded 1978457 J1141454) (D) 192021141545
in that language ? 192022141454 (C)/‘_"Z&_‘_L-——\ =
1920 3

gz P s , v

how will ‘STUNNED" be coded

(B)

(A) ;93_(1201“545 o2

Y. sy sand, 91 m"-b"m =
o CrB- 2

Find he dissimitar ™ 1y 49,8 | (w_ 27 — fD) -I_t_‘:.".'s_, _____

Ay 49 .- B I-‘;it;.i.ll-f-'-'-l -----------
R yat covrmnennT

- IR o O P T

14, fia o sriv 1 v Hifiy i frefafaa v w1 s AR

6

TEE AN [] > e

17 \$ j |
ﬁu‘kuﬁaﬁiﬁﬁmﬁmﬁﬁlﬁﬂﬂﬁﬁ?[]
(A} 16 @ 2 olf () 20 (D) 31

Examine the provided diagram and respond to the following question.

8 O ? Employed people
6 <| A
1 [3 D @’ Backward people
17\3| 4
A ‘—/L Educated people
How many individuals considered backwnrézre not educated ?
(A) 16 . ®) 22 ion © 20 (D) 31
15, SFTl SHERFI2 7 @ 5 =
. £ £ T
What is the next letter ? ‘ *
!" :Q::T:
(GRY (B) P % T (D) R
16 afz sy Zfmafim 6y o ge wE € ﬁlaoﬁmzﬁ':ﬁngﬂgﬁmwﬁmﬁmﬁ s e FH
TzE () Gt
(A) T q o g
(C) zfam.afim & (D) =fegord
If you start facing South-West and tum lﬁ%d'jgrru t0 your right, what direction are you facing now ?
(A) North-West (B) North-East
(C)  South-West ®) (D) South-East

17. 140 faefdas & wdwe & qran mn B o0 Frandi difed i drem; quz e 8, 70 Frand ECE GeE T
axa #, a1 75 faardl sirzzev W A T AT R ) 9w sifahi 3o g g 30 STIZEN AN W TR
1% @ difed it st sarszEn I AR G T R, 42 0 Az i e g i 2HT UE TE R, A4 8 A
T F e TR B | 3 it a5 I I W 0 3 i s e srer ga g §
In a survey of 140 students, 60 students like 10 play video games, 70 students like W play indoor games,
and 75 students like to play outdoor games. Additionally, 30 siudents like to play both indoor and outdoor
games, 1% like both video games and outdoor games, 42 play both video games and indoor games, and
% lke all types of games. Use the Venn diagram 1o find the students who play only outdoor games.

...........................................................

GW7- 24

32 ) 3S
Pagedof2q T TTTTTTTmTIITTTTTT
« T bn:-
e Ao, N 2 25y
o 4@ G

+

26. T ST T ST 8045 P i e Tt () 20 R oy e e ST



(G R-ET) SR d
(A (B)  fomrger (C) TEeE™

A cylinder is intersected by a plane incl; \ an.angls GF 45 de
resulting cross-section ? plane inclined at an ang

(A) (B) Hyperbola
af2 CAT #1 %12 DBU &, f DOG F gz 1 22
If the code for CAT is DBU, what iS.lhe code for DOG ?

Circle

(A) EOF (Br EPH o (C) DPF
8. ATgTd g i) 4

T T HN 2 ®

(A) ®) afe < ©r

Complete the analogy.

Glove : Hand : : Sock : ? {}

(A) Shoc (B) Am [0 (© Foot
9. \rgTa g At | g

stafraar ; Hafer o[ ;- ; waEn; ?

(A) @rREe (B) ST ©r T

Complete the analogy.
Astronaut : Spacecrafl : : Diver: ?

(A) Bicycle (B) Airplane
7 ¥7ei F uF afE@r A, B, C, D.Eaﬂl’l:'ﬁ,i’r%-,fga
2 st v feft & 1 © R e & A frarfg
(A) frar (B) Wt

In a family of six members,

(C) =&d
A, B CDE nn{l‘,

(C) Parabola

{:, (C) Submarine

sz puwEfimF e EF R £ ER =
1 BgAEi 8| B, E¥ Ry Hafua & 2

(D) e
grees to its axis. What is the shape of the
(D) Ellipse
&Q-\
(D) EPF Q(EB
(D) fat s‘, ‘
o8&
(D) Head
&
P 0-—‘“\1“’\‘
(D) =1
£ \
(D) Car !

(D) =t

there are two married couples. D is a teacher and the

father of E. F is the grandmather of E and a hdgsewife. C is a lawyer and married to A. B is not a male.

How is B related to E?
(A) Father

(

o (C) Sister

(B) Aunt

If the sum ol'f.hmc'cons
(A) 30

#re F wgamn, % 0, 1
=]

According to the codé:

) 28 () 24

digits 0, 1,2, 3, 4 are n%escnlcd by A,

(D) Mother

af vita ey e e AT 28 8, 1 s e we g 2

ccutive even numbers is 78, what is the second largest number ?
B

O 26

2,3, 4 W FHRI A, B, C, D, E 7 zafan S 1 (B + E) - (D + A)] %1 v sy

B, C, D, E respectively. Finahc value of

v E) - Al
[{,\"}‘”o 0+ ® 3 @& (© 1 o2 g é?‘;
i qrmﬁwrﬁrﬁmwim?‘ _ <43 —L‘-\-\\) 0 ey
¢ number in the series 2 " g — g
What will be the nex [\_] g "ﬁqﬁ-
(3;\(). IIHZ.(Z{;.!. 360, .. (n) ]“%(_’ ______ :h (C) 2180 “»D, 2160 E
) 1260 . ._.e=-ses=moessesmessesofRleots g ene s N e
Y fG < (&‘“7 a4 PP ‘)5.\2 ‘2_\\1 ........
- £ 3,6,%2,12360 2\60 ;1 aq, ?5%
¥ZYBYN . SX G = :
%
(A) 3;&‘ B L qﬂ'm Tt JCIobe, i - -
Who heﬂdg?ng ngm%q T o (© gt Dl
(A Ami he nOnM_ ) tl‘:[:nur“g <] T
69, it Shap, l? Y of Home A @?xs ©
(A) mqﬁﬁ?ﬂ Raj"‘“hSinh ./] 0”"‘“32024;m
\Vhlch T Y ) Nltynnmd
i
(A) T::ﬁhe fr"“ow (B) SR W 0 Ra
% 15iea Crmal pollyyigy e O Poltion i . : ;C)
aler ytian C0 aceele, °
(A) g_lika.ﬂil‘ﬁm RBl% s Pollution & © N:)nitcd) “"?Phicaﬁf,?{, T v
(C) fs =y 'ﬁ?{%ﬁqﬁ? J 5¢ pollution ©) s
Who w h R ®) ) Soil Pollution
'as the G .
(é) D.s overor of RBI dunng the dem (D) b=
(€) Chin[aman DWarnkm Onetization jn 19462
T\ T hDeshmuy, ¢ B Shakikangy
(A) mm'mw““%ﬁﬁrﬁawﬂl D) Uity
Which part of ~ (B) wmy : ﬁ};‘q‘ﬁmh
A e "o the Indian Constitution deq) .&I@) (©) wmy
72 | (B) Pan s Wil /TcDirmi"P"'“Ciplesofs D) W v
© TR 0 A it f g gy (O Panp o0 Pelicy
(A)  Afafamn T iy ¢, ©) Paty
Sl%) b .k‘ ol EI (B) m&‘ﬂ'&‘ﬁmm
¢ A Life M: : )
(AN t,.;.nfu;[.':_rfﬁlispcf“ Was written by w*\?x?;?(b) S




Vs emsssaUATN Gupt e
(C) Mahadevi Verma P (B) Suryakant Tripathi *Niraly'
73, SR i e Ao " ) Juwaharlal Nehru
(A) A& Fnon At a1 s
(B) 7@ wam w1 wfria (favm) o
N

(C) o1 arn 4] 3ufreafa >
m ) ana m!m a1 & e w wiy (fi’f'}lm
The mun reason for the blueness of the sky js (&)
(A) the absorption of blue light due to the uir'.i
(B) the scuttenng of white light

(C)  the presence of waler vapour g
(D) the scatiering of sunlight by air mnlcculci ]

&

A
yZ 2M

RIREIRELIRL = e

. nﬂemm#@iﬁmmmgﬁmmﬁmwmmm

If the average of 9 consecutive even numbers is 132, find the difference bet
numbers.

Fifav |
ween the first and the lag

(A) 15 |) 18 € 19 Dy 16 R
4. mqﬁmwﬂzs%@q&#wﬁaﬁmI,zooftsf%mmaraaaﬂam | ST

\ *As a result of 25% hike in the price of rice pcr‘l‘ﬁgz'a person is unable to purchase 6 kg more rice for
_qr,:s 1,200, What was the original price of rice per kg ?
(A) T4 (B) T60 mé'l‘ (C) T30 (D) 50

46, 0.05,0.5,0.25, 1.25 F1 Hewm woTEAH (HCF) ! S,
: : i 'y o
Find the HCF of 0,05, 0.5, 0.25, 1.25. =

=T w08 (B) 025 @ (€) 005 (D) 125

2347 = T HE v A R4, 6, 7, 8 3o @ F 0 el feafer & St 3 A=A 2 |

__~= Findthe smallest number which when divided by 4, 6, 7, § and ) leaves the remainder 3 in each case.
(A), 504 ®) 510 aggl@(sm (D) 501
48. a2 30 Zaeil 1 e o 40 T ¥ P e at d, Aot afima w2
Jgthé cost price of 30 tables is equal to the scllin%ﬁ)ricc of 40 ables, then what is the loss percentage ?
GA) 30% (B) 37.5% 2 (C) 26% D), 25%
49. o T g HA e 10 % 4 A 7@ shoset o i w109 S HR A TR wlwar ) g AR G WAL
T20F9F AN dmard 1 swR v maw sRmm a0 £ ;|
19 e \
A) = =% = o
() a1 q® Wi af 12% qﬁ—;‘ﬂ?__ﬂ_;@[
7 N
% © i i 142.% @ (o) AwfTEY

? A fruit scller buys some oranges at the rate of 4 TJ T10and t
sells the whole lot at the rate of 9 for T 20, What I is loss or ;:i:qp":‘:c"‘:‘:::l'?mm at 5 for T 10. Then he

™ G 12 g lo—=
(A) " Gain percent | —% ) h \i
. Bl N percent 12%
\6(7‘2"5 B 29/ = 3 &) ‘e
. iw: N
(C)  Loss percent lu—]% 30‘! — o © = E; 5

°Le —
s0, fafaa st diom 2 aumiatias. iy it : 1 % 3
2%, [\gp fafere st fiq 2 € g faeen mitw v e m:d:jTﬁ. g:g:]f;ﬁ;;,;:m ﬁ&;mmt =

Niklil and Rectu c:|n| n ll.lt rato 20 1 They spend in
monthly income of each, if the total monthly saving, of
,;LCO (A) F10,000, %5000 (1) €8.000, %4000 (=
81, v i B Uw wrt A S s w200 am g ;
s b . & R . qg o
19.%7" stfgam SiE @1 304 N T B, ag wd m}‘{g, 20 g $ 391 R sl € 51 B | ow 3F= o S
fow wan & -4 Siftrs wm g @ 1 36l €3 ¥ fore v
. 5% _lnan examination, s student who gets 20% of thb-i )
r.fgo B scotes 1% of the maximum marks, gets 20 madd UM marks fails by § marks. Another student who
(

(D) Noloss or no gain

the ratio $ ;3 and save in the rtio 4 - 1. Find the
: both Nikhil and Reetu together is T 10,000
, O T2%000, 214,000 (D) *2.000,7 1,000

g5 for pasving is !{?‘Imm than the passing marks. The percentage required
W gl
awza T 2\\W 6 o 1 ‘5 "-uefdéiii"""-------q:‘ Sl A ——
2 '; J _] '\ ] ’3 “1 o x

2 [P, 3 s
- \ \|':| 1‘1? | LN 'gb S - --u..:Q—-
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96.

97.

98.

9.

100.

101.

102,

103.

e b — T 4 T T

uﬁ:quimzfmquqazaﬁmqm 1 3 1 ey et e s 2
(A) I (B) =i %{F‘ Farafim , (D) zfam

If West is replaced by South. West, then North will be replaced by : et 3
(A) North-East (C) North-West , (D) South

®
af% 95474 1 KGFIF forear smay 8, i 82143 33 for o 2

195474 is written as KGFIF, then how will 821
(A) JCDEF

(B) South-West

be written ?
(B)/ JOCFE 0 (© ICDFE (D JDCEF

2 EXAMINATION = VCZNRMZGRLM ¥ oY 5 gz o 9w 2, & WRITTEN %) e W 294
ot s : \ ®

If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?

(&) DIBGGVM (B) DIUGGMV (C) IDGRGMV -

(D) DIPGGMN
g
TF FEH, mmﬁm&sﬁzaﬁmﬁmw%l Fari fFrom o \%
In a class, Sambu is rankcd 10 from the top abd 36™ from the bottom. How many students are there in

the class 7 q
@.’(C) "i;. N \9)’ 3 BG

(A) 47 (B) 44
ABaﬁtcmmmmﬁmmnﬁluﬁ-A@tswmmzom%mBaﬁt fm:n‘raa
e 70 e @, S B A g 7

(A) 18 freimm . (8) 20 frmm
The average weight of A, B and C is 60 kg. If

E (C) 17 i (D) 2|ﬁmmn,_\_’3_ 216G
C is 70 kg, then what is the weight of B ?

average weight of A and B is 30 kg and that of B and \.—‘

@A) 18kg B 20k © 17k (D) 21 ke 3)(_?““"& 53
- - - - - b =

40 o 1 oF T H, 15 9T fe de § o 1S om 2 G , s s om EE ae i‘ménﬁﬁirgg

7 i At 7 Ge A on 1 dem el

In a class of 40 students, 15 students play cncka[}nd 15 students play tennis, and 5 s{ug'hcp]“ iV both the \\‘ o
games. Then the number of students who play néither of the two games is ¢

(A) 10 (B) 35 @O ) 25 \%ég
t(;axfﬁziﬂmm 259, @ GT 31 .aﬁmgssnumﬁmamm 732 T | A, @ W e ————

1€ ETAT | S9TS o A T A 2 = Ve
A person sold a horse at a gain of 25%. Had h:?uglu it for 35% less and sold it for ¥ 732 less, he would \.\b
have made a profit of 36%. The cost price ol'lhz:lﬁr.sc was ‘P\' - \&°
(A) T2.000 ly) T 1,800 @ (C) 2,500 (D) T1,500 i

- Q"“

K LT shom, LA ama ) N KRR safr o, MAw2) o K 8 F1 way § o =ie
(A) T (B) = Ador (D) fry
K is L's wife and M is L's sister. N is the daughter of K, while O is M's mot Phat is thie i
KL ¢ O is M's mother, What is the relation of ()

(A) Father-in-law () Mother

59, mmmmmmmﬁmm? ®) aﬁﬂ“ﬁ)
(€ faesht
Where was India’s first airport located ? (B) pombay (Mumbai) I
(A} Calcutta (Kolkata)

(C) Delhi (D) Made(Chcnnai)
elnt

R
60. mﬁmﬁ%mmﬁ%@cmﬁsﬁﬁﬂ*mmm

D) T20©¥@
(A) Ti0TE (B) Ts0EmE © TSa'm:ndia @serv(icc):s? ‘
What is the threshold limit for GST registration for businesses 10 * (D) T20 lakhs i
(A) %10 lakhs (B) 750 lakhs (© TSlkhs @
61, e P e B e e e AR AL ? I

(A) afees @) TH (€) T & ( ),,
Which of India’s ncighbouring country is known as the “Land of Thunger Dragon™ ?

- (A) Bangladesh (B) Bhutan (C) Nepal o (D) Myanmar

neil s e ki ®
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62, TAHIATET 8 | F19-61 | JISAT WIIHH T67T € 7

(A) THEw @ T () T (D) =T
Which of the following is nof a Social Media Platform ?
(A) Facebook (B) Google (C) Twitter (D) Instagram
6. & gl e Al afidl &1 v, b A A W TR O AT I
Hafa w1 1 7eE A & forg PR smar 2 q
: (A) fefom (B) Fffm (©) VPN (D) T Rl
4 uses images with malicious files in them, meant 10 help a hacker steal your account informatiot
or infect your computer, '
(A) Smishing (B) Catfishing (€©) VPN {} (D) Image phishing
64. AT TomTea o) TR T R 7 =t i} : '
(A) UEZER (n) ZHafw (©) i o
What is the capital of Republic of Croatia ? @ (D) fifraa fedt
(A) Amsterdam (B) Dubrovnik
© Zagreb (D) Mexico City

65. mﬁaﬁﬁmmmmmﬁﬁwﬂ

(A) T o sl a0 o e B LY

(13) e 314 2 & urd Wi i qn aan o

() e s F li:mffm A @ sifia 30 .

) zmura-mlémrmimmnlrarmimgwhﬁwq:mmmlmﬂm :
T Qg e 3 xgrern e £

In what ways does information sharing become importan ing
N fighting :
B ICersm ?

(A) ltstrengthens the imlitary's capabilities,
(B) Ivimproves relations with other countries
(C) Iallows authorities W dentify potentia) threary inot {E]

) T ‘IUiL‘Lly
................................................... cky More .

GWZ-24 Page 13 o 3w --.".r_r‘_"f'gly through security agencics. ...

(.. 1147 118 Terivr sy T ATy
Faren 1 A i i : s o i BB o
T 51 i, e A BT e
Wﬁﬁ?mwmmﬁ%mmmimmmm@
T 1 35 5 1 e ot e 1 e e sie e G 1 A6 o 0 S
%.hmfim?ﬂfﬂ‘lw@wmqmmm% e af g 1 S o el 2, f R Y a7 e
%lzmmﬁmwmﬁmamﬁmzﬁmﬁﬁmwmmm
TR R 31 ST S 3 5T Srreare ] & o e 61 919 Ao o W & G 2
14, mgﬁmmﬁmﬁnaﬁﬁmﬁmmm%@’ I T

(A) sfer: wfeder quiern ofafia 81 & .

(B) mﬁmwﬁ?ﬁmmmaﬁgaﬂ

© FEmsmEamEsd O

(D) Ffews, v, Feam a2 e st & Rratfer
115, amgﬁwﬁzafmmmmﬁmémmﬁm&mm#

(A) &2 WIS 3 S Y | (B) mm’ﬁﬁﬁfﬁa

(©) =M g F gz 3 77 fear g | (D) &8 5 vy ot ey Sy
116. :\mmwg;:g;ﬁmaﬁtam&wﬁ 7 awaﬁﬁ;. S

) = afewit o s
FE Y| (B) 3 stenfrara o g e 2

(C) = a1 F ufg e 78 2 (D) =3¢ feraoes iR T
117 mﬁﬁamqafnmﬁnatﬁaﬂzaqyﬁa%: ® i y Y
(A) mwnﬁrﬁwﬁmm <](B) Tasire Ty
(C)  ¥133 =1 srafrdm sifirer fyam) b i

£ (D) S 7 ot
118. Hﬁ’!mﬂmmagﬁﬁmmaq D Wm’fﬁhﬁz’,ﬂ|

(A) HfE. i vet 1 faafiry 8 B) W
(C) . Sfras.aeit a1 o 3y @(D) mmmwﬁmum

9. 01 v & T £ e e 7 AR (RS D oP —
(A) TFTET, FTA1 (B) umr, e ©) 8.z ‘

120, T 212z 3 o o v gqf - 3 ' ®) =9, ey
o iz ) (1) e <](C) .

121, ﬁwﬁ?&nnizmmsﬁwdmmm.mmg@) (D) TRy
b A
"T‘” (B fan q((‘)Tn

122. fa:rﬂwfmdr;;;nﬁa;,mmmmﬂrm: o (D) wig

(A) \nrdﬁ',;{w‘jmfa!'
v i s fa b o B I 332 s a
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1. et 5 8 B vz § onn st e w8 0

Which of the following words has its letters in an alphabetical order ?

(A) Adrops (B) Envelops (€ Bloops (D) Collops
2 'ﬂﬁp>q:p3+q33ﬁ'(p<q=p3_q2_;ﬁ(1 >2)<3=

Ifp>q=p*+¢° andp<q=p’-q% then(l1>2)<3 =

(A) 480 (B) 840 (C) 600 (D) 720

3. Fasafrf S ) st & it ifr she 2w q1s 37 2 S A
RK594B2%*E?ASLSI4SVIIC6N@H 13D Szl Qq:;;
ity e v &, ROt & seder 35 v et ot v o R 8 2

Examine the following sequence closely and mpoﬂﬂ to the question that follows.
RKS9#B2%*E?ABLSI4SVTICGN@H 13D

How many letters are there, each of which is imymediately preceded and immediately followed by a
symbol ?

@
(1 (B) 3 © o (D) 2
@ 52 9% & 3401 e Weifira & fore e semigm wAia & - /
(A) FHEH B) fawdd (©) SfEra (D) WEEA
Cunains are related to fabric in the same way as biﬁds are related to :
(A) Covers (B) Lifters <]C) Cords (D) Slats
@ I F - @ 8, I aw mam w2, ©)
@) g @ T Joy s (D) TEFE R
Sozp is related to Clean in the same way as Perfunjéis related to :
(A) Freshness (B) Smell [1©) sman (D) Neat

ol
6. Few o weira & e 1 e e, M 2 T PR A s 2

Given the pattern in the provided combinations, how would you express the combination represented

by 9" 2
AZ3B, CY6D, EX9F, ? o
(A) IVIS) (B) NZ210 CL GWI12H (D) KXISL

T w1 v o sin e R, F A gea Qi 10 s e 8, f @ A e @ o LS sy
e B ar g fag @ P g <
1 10 {_.}n) 18 wiet
(C)y 153z (D) 20
A person walks 15 meters east, then tums left apl walks 10 meters, then wms left again and wakg
IS meters. How fur is he from the starting point ? ®)

(A) 10 meters () 18 meters 5
_____ (€©) 15 meters \ e D) 20meters e
GWy.24 "7777mmmmemes ‘ Page 2 0f 24
©

v ‘Z\

Dy \
> 3 al
ﬁm*m“ﬂfllmwm,,ngfaﬁ?mﬁu”ﬂﬁﬁ{aﬁﬂ%ﬁlg— 7731 # fer
W*W‘"Wﬁmﬁﬁqn“ e\ T . btain amixture
Two types of rice rates are T 1/kg and 7 21/kg. Find the ratio af the two types of rice to !
of rate ¥ 17/kg. !
(A) 1:1 Or2:a < © 31 (D) 2:1

¢ areft
2 temfeat s so Pafia aﬁngﬁaﬁm@ﬁmﬁmmf!mt.wa;ﬁ o
e, el nf & e et e A3 v 2 16 T o ¥ 1 FAfa d
aaTs I i) 7 :{-}

cen amah my s




(A) 120M1 (B) 1235 L] © e \aap rae e
Two trains travel in the same direction at 59 widhr and 32 km/hr and the faster train passes a man in the
slower train in 16 seconds. Find the length of th Yaster train.

(A) 120m (B) 123m (C) 170m (D) 124m
., 67 HEEE R 10 dFE 3sﬂ}naﬁginaamm?ﬁtlzwmﬁsma&@zﬁ#mu§ﬁsﬂﬁﬂﬁm
3 & T FTen weE e Rk %
(A) B8EFT (B) 4.58% I3 () 67%%s (D) 5.5%%3 —ss~
A 67 meters long train crosses a tunnel of lmg(& 33 meters in 10 seconds. Find the time for the train 10 e n,
cross a man standing on a platform of length 65 meters. " &
(A) 8.8 seconds (B) 4.5 scconds & (C) 6.7 seconds D) 5Sseconds P

. s Ter 3 v fafim A 150 ft F g @ & fera 200 st w1 e P | af s ft 3 ¥ ey
mmﬁmmm,ﬁitmﬂmm@%mﬁgﬁmmaﬁmuﬁﬁﬁmm

L #) .
Indian Railways emplayed 200 workers 10 €0 oaelc a certain work in 150 days. If only one-fourth of the (g}
work had been done in 50 days, then to completc the whole work in \ime, what is the number of additional ‘9
workers to be employed ?
(A) 600 ) 20(15 (C) 100 (D) 300 e |
lzgmw‘:‘gnfmu;maﬁwﬁﬁﬁﬂ ‘t.|?gmammuﬁmimmﬁlzﬁﬂﬁmm
tlnﬁggtq:sﬂ_t:{ﬂﬁ?mqﬁmmmﬂ A 8, A fred Pl T ERa & 2
) 707 g w0 (©) sofa () sofeT
nd 18 women can do a work in 10 dafd) Y men and 18 women can do the same work in 12 days.
lzamﬂz 9 nd 3 women together do the same wqr‘k} in how many days will they complete the work 7
It 3 men (1) 60 days 1 (C) K0days (D) 50 days
(A) 70days ) ) { \So 2e0
- {mﬁqﬂmmfn faert T A E € S0 2
2.8 @) 0@t oF () 12w (D) 207 S
L2 h time will an amount be doubled afthe rute of 12.5% 7 v
In lul\; ly“::r: (13) 10 years (C) 12 years (D) 20 years AL AR
» Wﬂmm,,.ﬂmrmfmuiﬂqidl? __L):'_S_’_;’_ Se = 3
- wational (Congress was founded in which year ? \/ —
The Indizn (1947 (C) 1887 (D) 1908 &
M‘!j’i??.“”_”,......-------..../;;..."._..y.\‘.l.l.aiii.: .............. P, s
«-]-.".':l” 4 o YI:'/\U - a\\“
\ A% \2e = tob ".t.)dl;j‘- *2\ G o
=3 gn =AY - \;"‘3‘\3‘ A2\ K

1 77 T T e i 3 Py vt @RS o) 0 e &, < s Faior fnam dgeegh) 3 T 11
TR o FoTt U e oy g s @ |

STHAR FOTIET

29,952

&
qaaMéqﬁm:maam%wauql@z%mmﬂmm%maﬁquo% ‘
e 1 WA 3§ mﬂﬁqﬁ@ﬁ@tgﬁ@ﬁtuﬁrmmﬁwﬁﬁmm? ‘
(A) T5500F3 (B) 5254713

(C) T5892FI% 1 (D) T4B45FTS

The given pie chart illustrates the various sources of funding (in T crores) that the Public Works
Department (PWD) plans to collect for ts Phasg,J{ Projects.

@

External Assistange
11,486

Market Borrowing
Aan nen




Annuity
6000

cct with T 4910 crores through toll collection by an outsourced agency, allowing for a

To support the proj
what is the total amount that the outsourced agency should be permitted 1o

maximum 20% commission,

collect ?
(A) ¥ 5500 crores (D) T 5254 crores
(C) T 5892 crores (D) TABAS crores
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